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A kargi bardow�yown

Apacowcel anhavasarow�yownner�: Hetazotel havasarow�yan depq�:

1. ∀x ≥ 0 : 1 + x ≥ 2
√
x, 2. ∀x > 0 : x+

1

x
≥ 2,

3. ∀x, y ∈ R+ : 2(x2 + y2) ≥ (x+ y)2, 4. ∀x, y ∈ R+ :
1

x
+

1

y
≥ 4

x+ y
,

5. ∀a, b, x ∈ R+ : ax+
b

x
≥ 2
√
ab, 6. ∀a, b ∈ R+ :

a

b
+

b

a
≥ 2,

7. ∀x, y, z ∈ R+ : (x+ y)(x+ z)(y + z) ≥ 8xyz,

8. ∀x, y, z ∈ R : x2 + y2 + z2 ≥ xy + xz + yz,

9. ∀x, y, z ∈ R+ : xy + xz + yz ≥ x
√
zy + y

√
xz + z

√
xy,

10. ∀x, y, z ∈ R : x2 + y2 + 1 ≥ xy + x+ y,

11. ∀x, y, z ∈ R+ :
1

x
+

1

y
+

1

z
≥ 1
√
xy

+
1√
xz

+
1
√
zy

,

12. ∀x, y, z ∈ R+ :
xy

z
+

xz

y
+

yz

x
≥ x+ y + z,

13. ∀x, y, z ∈ R : x2 + y2 + z2 ≥ x
√

y2 + z2 + y
√
x2 + z2

14. ∀x, y, z ∈ R+ : x2 + y2 + z2 ≥ 1/3, e�e x+ y + z = 1,

15.1. ∀x, y ∈ R : x4 + y4 + 8 ≥ 8xy,

15.2. ∀x, y ∈ R : x4 + y4 + 2 ≥ 4xy,

16. ∀a, b, c, d ∈ R+ : (a+ b+ c+ d) ·
(
1

a
+

1

b
+

1

c
+

1

d

)
≥ 16 :

17. ∀a, b, c, d ∈ R+ :
a

b
+

b

c
+

c

d
+

d

a
≥ 4 :

1



18. e�e (1 + a)(1 + b)(1 + c) = 8, apa abc ≤ 1

19. ∀a, b, c ≥ 0 : a4 + b4 + c4 ≥ a2b2 + b2c2 + c2a2 ≥ abc(a+ b+ c),

20. ∀a, b, c, d ≥ 0 : a2 + b2 + c2 + d2 + ab+ ac+ ad+ bc+ bd+ cd ≥ 10, e�e abcd = 1,

21. ∀a, b, c ∈ R+ :

(
1

a
+ 1

)(
1

b
+ 1

)(
1

c
+ 1

)
≥ 64, e�e a+ b+ c = 1,

22. ∀a, b, c ∈ R+ :

(
1

a
− 1

)(
1

b
− 1

)(
1

c
− 1

)
≥ 8, e�e a+ b+ c = 1,

23.1. ∀a, b ∈ R+ :

(
a+

1

a

)2

+

(
b+

1

b

)2

≥ 25

2
, e�e a+ b = 1,

23.2. ∀a, b, c ∈ R+ :

(
a+

1

a

)2

+

(
b+

1

b

)2

+

(
c+

1

c

)2

≥ 100

3
, e�e a+ b+ c = 1,

23.3. ∀a, b, c, d ∈ R+ :

(
a+

1

a

)2

+

(
b+

1

b

)2

+

(
c+

1

c

)2

+

(
d+

1

d

)2

≥ 289

4
, e�e a+b+c+d = 1,

24. ∀x, y ∈ R : x2 + y2 ≥ 2
√
2(x− y), e�e xy = 1,

25. ∀a, b, c > 0 : (a2b+ b2c+ c2a)(ab2 + bc2 + ca2) ≥ 9a2b2c2,

2


